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Accounting for taxes on income

Taxes on income are considered to be an expense incurred by the enterprise in earning the income and are accrued in the same periods as the revenue and expenses to which they relate.

Example 1 
	
	Profit and loss account for the year ended 31 December 2000


	

	
	Euro
	Euro



	Sales


	
	700

	Cost of goods sold
	
	

	     * Opening stock 1 Jan.20xx
	--
	

	     * Purchases
	1,100
	

	     * Closing stock 31 Dec.20xx


	(700)
	(400)

	Gross Profit


	
	300

	Expenses
	
	

	
	
	

	     * Electricity
	
	100

	     * Depreciation
	
	100

	     * Other expenses
	
	--

	
	
	(200)



	 Profit before taxes
	
	100

	
	
	


	Accounting income is the aggregate income or loss for a period as reported in the income statement.

Taxable income is the amount of income (loss) for a period, determined in accordance with the rules established by the taxation authorities, upon which the provision for taxes payable (recoverable) is determined. 




Assuming that:

· the tax rate is equal to 35%; and

· the taxable income  is equal to the accounting income.

The taxes on income for the year 2000 will be accounted with the following entries:

	Tax expense  (P&L)
	
	Tax liabilities (B/S)
	

	                                    35


	
	
	35  


Taxes on income are generally accounted for as tax expense in the determination of net income of the enterprise.  The tax expense related to accounting income from the ordinary activities of the enterprise is usually presented as a separate item in the profit and loss account.


Upon the registration of the tax expense of the year the profit and loss account and the balance sheet would be as follows:

	
	Profit and loss account for the year ended 31 December 2000


	

	
	Euro
	Euro



	Sales


	
	700

	Cost of goods sold
	
	

	     * Opening stock 1 Jan.20xx
	--
	

	     * Purchases
	1,100
	

	     * Closing stock 31 Dec.20xx


	(700)
	(400)

	Gross Profit


	
	300

	Expenses
	
	

	
	
	

	     * Electricity
	
	100

	     * Depreciation
	
	100

	     * Other expenses
	
	--

	
	
	(200)



	 Profit before taxes
	
	100

	Taxes on income
	
	(35)

	
	
	

	Net profit for the year 2000
	
	65




	Figures in Euro
	Balance sheet for the year ended 31 December 2000

	
	Cost
	Net book value

	Fixed assets

     * Computer

       (accumulated depreciation)

  
	400

(100)
	300

	Current assets
	
	

	     * Stock
	
	700

	     * Accounts receivable

       (provisions for bad debts)
	200

--
	200

	     * Bank

     * Cash


	
	500

500

	Total assets


	
	2,200

	Current liabilities

     * Due to suppliers     

     * Accruals (electricity)

     * Tax liabilities 


	
	(100)

(100)

(35)

	Long-term liabilities

     * Loan 

     
	
	--



	Total liabilities


	
	(235)

	Net Equity
	
	                        

	     * Capital
	
	(1,900)

	
	
	

	Net Profit for the year 2000
	
	65

	
	
	



Accounting for income taxes becomes rather complicated insofar the rules for determining the taxable income differ from the accounting policies applied to determine the accounting income.  This difference may be of two types:

a) Temporary differences are the differences between the taxable income and the accounting income for a period that arise because the period in which some items of revenue and expense are included in the taxable income does not coincide with the period in which they are included in the accounting income.  Temporary differences originate in one period and reverse in one or more subsequent periods.  For example, accounting policies may specify that certain revenues are included in the accounting income at the time goods or services are delivered but tax rules may require or allow their inclusion at the time cash is collected.  The total of these revenues included in the accounting and the taxable income will ultimately be the same, but the periods of inclusion will differ.  Another example is when the depreciation rate used in determining the taxable income differs from that used in determining the accounting income. 

Example:
In year 2000, Company X purchases machinery for 10,000 Euro.

Machinery’s depreciation for accounting purposes is equal to 10% per year.

The fiscally allowed depreciation rate is 20%.

The corporate tax rate of Company X is 50%.

In the years from 2000 to 2004, the depreciation accounted in Company X’s financial statements will be equal to 1,000 Euro. 

In the same years, the fiscal depreciation of the machinery will be equal to 2,000 Euro.

The difference between the accounting and the fiscal depreciation (1,000 Euro) will provide Company X with a temporary tax saving equal to 500 Euro (1,000 * 50%) per year.

The next 5 years (from 2005 to 2009) the yearly depreciation in the accounting of Company X will be equal to 1,000 Euro whilst the allowed deduction, for tax purposes, of such depreciation will be equal to 0.  Thus the taxable income will be higher than the accounting income for an amount equal to 1,000 Euro.

The savings of the first 5 years is ‘paid back’ in the subsequent 5 years.

b) Permanent differences are the differences between taxable income and accounting income for a period that originate in the current period and do not reverse in subsequent periods.  For example, under many system of taxation some donations are not an allowed deduction in determining taxable income; however such amounts would be deducted in determining accounting income.

Example:

In year 2000, Company Y has rewarded its best agent with a cruise on the Caribbean sea. The expense related to such cruise (2,000 Euro) has been posted in the financial statements of Company Y for the relevant year.

The corporate tax rate of Company Y is 50%.

According to the tax provisions applicable to Company Y such expense is not deductible for tax purposes. This results into a permanent tax adjustment equal to 1,000 Euro which will never be ‘paid back’ to Company Y.

According to the accruals principle, for financial reporting purposes, the amount presented as current period tax expense should relate appropriately to the amount of profit before tax reported in the financial statements.  A described above, the tax expense would rarely equal the current period’s tax payment obligation.  

The solution is to record deferred income tax assets and liabilities as the difference between the amount owed and the amount accruable for financial reporting purposes.  

[image: image1.wmf][image: image2.wmf]
Example 2 – Deferred tax liabilities

Given the figures provided for by Example 12, let’s assume that the amount of depreciation deductible for tax purposes is equal to 120.  The procedure to compute the deferred tax provision is as follows:

- Profit before taxes
(Accounting income)




100

- Negative adjustment (higher depreciation allowed for tax purposes)

(20)












------

- Taxable income








 80

- Tax obligation for year 2000 ( 80*35%)





(28)

- Deferred tax liability  (20*35%)






  (7)













------

Net Profit
(100 – 28 – 7)







  65


The profit and loss account of the enterprise would be as follows:

	
	Profit and loss account for the year ended 31 December 2000


	

	
	Euro
	Euro



	Sales


	
	700

	Cost of goods sold
	
	

	     * Opening stock 1 Jan.20xx
	--
	

	     * Purchases
	1,100
	

	     * Closing stock 31 Dec.20xx


	(700)
	(400)

	Gross Profit


	
	300

	Expenses
	
	

	
	
	

	     * Electricity
	
	100

	     * Depreciation
	
	100

	     * Other expenses
	
	--

	
	
	(200)



	 Profit before taxes
	
	100

	Taxes on income
	
	(28)

	Deferred taxes
	
	(7)



	Net profit for the year 2000
	
	65





The taxes on income for the year 2000 will be accounted with the following entries:

	Tax expense  (P&L)
	
	Tax liabilities (B/S)
	

	                                    28


	
	
	28


	Deferred tax expense  (P&L)
	
	Provision for deferred tax liabilities (B/S)
	

	                                    7


	
	
	7  


The balance sheet of the enterprise would be as follows:

	Figures in Euro
	Balance sheet for the year ended 31 December 2000

	
	Cost
	Net book value

	Fixed assets

     * Computer

       (accumulated depreciation)

  
	400

(100)
	300

	Current assets
	
	

	     * Stock
	
	700

	     * Accounts receivable

       (provisions for bad debts)
	200

--
	200

	     * Bank

     * Cash


	
	500

500

	Total assets


	
	2,200

	Current liabilities

     * Due to suppliers     

     * Accruals (electricity)

     * Tax liabilities 

     * Provision for deferred 

       tax liabilities


	
	(100)

(100)

(28)

(7)

	Long-term liabilities

     * Loan 

     
	
	--



	Total liabilities


	
	(235)

	Net Equity
	
	                        

	     * Capital
	
	(1,900)

	
	
	

	Net Profit for the year 2000
	
	65

	
	
	


Example 3 – Deferred tax assets

Given the figures provided for by Example 12, let’s assume that for tax purposes the expenses for electricity may be deducted on a cash basis (strange rule!). In the example we assume that such amount would be equal to 50.  The procedure to compute the deferred tax provision is as follows:

- Profit before taxes
(Accounting income)




100

- Positive adjustment (lower deduction allowed for tax purposes)


  50












-------

- Taxable income








 150

- Tax obligation for year 2000 (150*35%)





(52.5)

- Deferred tax asset (50*35%)






 17.5













-------

Net Profit
(100 – 52.5 + 17.5)






  65


The profit and loss account of the enterprise would be as follows:

	
	Profit and loss account for the year ended 31 December 2000


	

	
	Euro
	Euro



	Sales


	
	700

	Cost of goods sold
	
	

	     * Opening stock 1 Jan.20xx
	--
	

	     * Purchases
	1,100
	

	     * Closing stock 31 Dec.20xx


	(700)
	(400)

	Gross Profit


	
	300

	Expenses
	
	

	
	
	

	     * Electricity
	
	100

	     * Depreciation
	
	100

	     * Other expenses
	
	--

	
	
	(200)



	 Profit before taxes
	
	100

	Taxes on income
	
	 (52.5)

	Deferred taxes
	
	                                               17.5



	Net profit for the year 2000
	
	65





The taxes on income for the year 2000 will be accounted with the following entries:

	Tax expense  (P&L)
	
	Tax liabilities (B/S)
	

	                                 52.5


	
	
	52.5


	Deferred tax expense  (P&L)
	
	Tax Assets (B/S)
	

	
	17.5
	                                 17.5
	  


The balance sheet of the enterprise would be as follows:

	Figures in Euro
	Balance sheet for the year ended 31 December 2000

	
	Cost
	Net book value

	Fixed assets

     * Computer

       (accumulated depreciation)

  
	400

(100)
	300

	Current assets
	
	

	     * Stock
	
	700

	     * Accounts receivable

       (provisions for bad debts)
	200

--
	200

	     * Tax assets

     * Bank

     * Cash


	
	17.5

500

500

	Total assets


	
	2,217.5

	Current liabilities

     * Due to suppliers     

     * Accruals (electricity)

     * Tax liabilities 

     
	
	(100)

(100)

(52.5)



	Long-term liabilities

     * Loan 

     
	
	--



	Total liabilities


	
	(252.5)

	Net Equity
	
	                        

	     * Capital
	
	(1,900)

	
	
	

	Net Profit for the year 2000
	
	65

	
	
	


It stems from the above that the tax expense for a period comprises:

· the provision for taxes payable;

· the amount of taxes expected to be payable or considered to be prepaid in respect of temporary differences originating or reversing in the current period; and

· the adjustments to deferred tax balances in the balance sheet necessary to reflect either a change in the tax rate or the imposition of new taxes.

	Concepts to remember:

The tax effect of the deferred taxes should normally be taken into account with regard to all temporary differences.  However, the tax expense for the period may exclude the tax effects of certain temporary differences when there is reasonable evidence that these temporary differences will not reverse for some considerable period ahead.

The tax effect of temporary differences that result in a debit balance or a debit to the deferred tax balance should not be carried forward unless there is a reasonable expectation of realisation.




	Tax losses

Tax legislation generally provides that tax losses of the current period may be used either to recover tax paid within a specified carry back period or to reduce or eliminate tax to be paid in future periods.  The loss provides a tax saving in the period of the loss or a potential tax saving in some subsequent period. 

The potential tax savings relating to a tax loss carry forward may be included in the determination of net income for the period of the loss, insofar there is assurance beyond any reasonable doubt that future taxable income will be sufficient to allow the benefit of the loss to be realised 





Q.1  According to the information provided below, determine the taxable income of Company Z and show the computation of the deferred tax liability and asset.

Assume that Company Z has a profit before taxes of 250,000 Euro in 2003, a total of 28,000 Euro of taxable temporary differences (i.e. positive adjustment of the accounting income), and a total of 8,000 Euro of deductible temporary differences (i.e. negative adjustment of the accounting income).  There are no operating loss or tax credit carry forward. The tax rate is a flat 40%. Also assume that there were no deferred tax liabilities or assets in prior years.

The taxable income is computed as follows (figures in Euro):


*  Profit before taxes  





250,000


*  Taxable temporary differences



 (28,000)


*  Deductible temporary differences



    8,000










-------------


Taxable income






230,000


Current income tax obligation  (230,000*40%)

  92,000


Deferred tax asset (8,000*40%)




    3,200


Deferred tax liability (28,000*40%)



  11,200


Deferred income tax expense (11,200 - 3,200)

    8,000

	Tax expense  (P&L)
	
	Tax liabilities (B/S)
	

	                             92,000


	
	
	92,000

	Deferred tax expense  (P&L)


	
	Tax Assets (B/S)
	

	                           11,200          


	3,200


	                               3,200
	  

	
	
	Provision for deferred tax liabilities (B/S)
	

	
	
	
	  11,200




Deferred Tax Liability


The amounts of income taxes payable in future periods in respect of taxable temporary difference.





Deferred Tax Asset


The amounts of income taxes recoverable in future periods in respect of deductible temporary differences, carry forwards of unused tax losses, and carry forward of un used tax credits.








Deferred Tax Expense


The change during a reporting period in the deferred tax liabilities and deferred tax assets of an entity.
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